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1. If the allowable normal stress for the bar in Fig. 1 is o, =21 ksi, determine the maximum axial
force P that can be applied to the bar. The bar has a width of 2 in. and thickness of 0.125 in. The hole
in the bar has a diameter of 0.75 in. You may use Fig.2 to find the stress concentration factor X

whose X-axis is the ratio of hole radius to bar width. (20%)
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2. Determine the deflection at B of the bar in Fig. 3. (20%)
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3. Calculate the bending moment at joint A of the rigid frame in Fig. 4. (20%)
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5. Describe the meaning of the following terms: ( Chinese is acceptable.) (20%)
a) Compact Section (in steel design) : b) Residual Stress (in steel design)

¢) Zlifﬁﬁﬁﬁtt (in RC design) : d) Ultimate Stress Design




